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Examen de Matematicas 2° de Bachillerato CN

Problema 1 Calcular los siguientes limites:

L. lm (32" +52° — 72 + 22 + 1)
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4. Tim (\/6x2 5z +1— 622+ 22 — 1)
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Solucion:
1. lim (=32* +52% — 72?2 + 224+ 1) = —00
r— 0
4 2
— 72?4
o lim 8x Tx z+3 _0
z—oco  5xd — 3z —2
o V/8at =322 +5x+3 2v/2
3. lim —
T— 00 —322 42 3
76
4. lim (\/63;2 — 5z +1— V622 + 2z — 1) __TV6
L 8zt —Tx?—dx+3 7
5. lim =
t—1  Hxd -3z —2 11
o2t — T — 444 32
6. lim ==
t—2 x> — 15z —2 65
Va2 —2—\Bx+T7 5V79
7. lim =
T—9 z—9 79
V222 —1—-/1lz+5 1371
8. lim =
z— 6 xr—6 142
2 1 z+1
9. lim (”“" o =
T—>00 T
10 1 202 +5x—9 IH_O
Ceheo \ T 722 — 6 -
, 722 — 3z +38 VT
11. 1 = ——
T—00 -3z +5 3
N 7T _
12. lim 73:2 tz—8 No existe
r—00 z2+5
5  o,2
13, I Sr 2w L
z—0 4z 4
V=226 +3x—1 2
14. lim = ——
r—00 212 — 3 2
15. lim (\/2x2—3x+1+\/x2+2x—5) =
r—>00





